#3401 B 148 CKER)

R RENFEHIS (A15) 2B B #H

L5 ESEHE: 1779
(EEISHERESD)
mn &n EEHh EIFEE = (ke) iR b tExIER 5|
AH HY5E Axt Hfike) | S1EM) FE(E) ZEM) =1ErFE) FE(E) ZEM)
130100 [ \CA 3 18,658
£E 340 0 340 10 972 756
me 4,000 500 3,500 10 864 1,080 432
& 7,560 5,280 2,280 12 918 540 1,080 540
130340 [;£ICA LA 3 14,570
£E 80 0 80 10 1,782
RI& 6,800 100 6,700 10 Z.376 2,160 2,700 1,026
REAR 4,790 0 4,790 10 2,462 1,350
BRE 2,000 0 2,000 10 1,944 648
130400 [Z %5 g 1,522
= 1,000 0 1,000 10 4,860 1,447
Ik 330 40 290 10 4, 644 4,644 3,240
130600 |[NWACA g 1,092
] 1,080 0 1,080 5 - - - 4536 1,296
131100 |3 g 29,062
Ik 16,400 9,750 6,650 20 670 540 756 594
50 5,655 4,260 1,395 15 1,296 543 1,080 864
£E 6,047 5,878 169 13 1,026 756 1,361 1,242
ENEIT 960 315 645 15 1,080 648 648
131700 | ¥ Y g 21,935
p3: 850 0 850 15 756
50 12,690 2,990 9,700 10 1,242 156 1,404 648
£EE 8,395 5,288 3,107 12 1,242 486 1,296 475
131800 [IE5NAE g 1,752
£EE 202 94 109 02 324 194 216
] 446 2 444]  0.08 76
12 563 225 338 0.18 140 140
131910 | & g 2,691
N 9 0 9] 0.045 63 62
£E 53 5 48] 05 302 302 270
Ll 275 0 275 1 1,296 432
&Il 1,374 0 1,374 10 3,132 2,430
EiR 880 50 830 5 3. 240 3,780 2,160
(S5 40 0 40 5 3,726
131950 |[A T 3 8,546
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L5 HERHBE: 1779 b+
(I HEREFST)
mn &n i EIFEE = (ke) R b tExIER 5|
AH Y5 HExt Hiike) | &EAE) | HEFE) | ®EME) | &EME) [ FEFE) [ RiEFE)
£EE 370 96 274 3 2,052 972 2,052 972
BEY 1,140 141 999 3 Z, 376 1, 404 2,376 1,620
BRE 1,032 645 387 3 2,214 2,160 2,052 1,836
hE 180 0 180 3 972 756
133400 [L AR g 19,518
Ik 300 300 0 10 1,404 1,296
EE 6,688 4,408 2,280 10 3. 024 972 3,132 1,080
] 2,020 700 1,320 10 3,024 2,376 3,024 1,080
RiF 6,380 2,480 3,900 10 1,458 1,404 2,376 972
REAR 200 0 200 10 1,231 486
134100 |81 3 10,390
] 2,240 1,040 1,200 5 1,879 1,566 2,214 1,134
iR 25 0 25 5 1,404 1,296
(S5 700 700 0 5 1,944 1,620
= I 7,075 4,660 2,415 5 Z 160 1,480 2214 1,706
134200 |m /I % 1,510
P 1,510 60 1,450 10 1,728 1,728 1,296
134300 | hF g 2,449
3= 394 96 298 2 1,188 810 1,080 648
S 1,272 374 898 0.3 124 119 130 119
il 783 62 721 4 1,836 1,836 1,620
134400 [~ % 6,893
£EE 1,282 176 1,106 4 1,296 972 1,188 864
REAR 5513 786 4,727 4 1, 404 864 1,404 648
134500 |[E—< > i 3,150
(S5 405 63 342 0.15 86 76 108 62
=I5 2,710 944 1,766 0.13 93 16 93 65
135100 [LNAUIT A g 110
=t 20 10 10 /] Z. 808 2916
IR 30 0 30 2 2,808 2,754
136100 [MAL & w 23,535
FIE 35 0 35 5 2,376 1,620
BS 5,405 740 4,665 5 Z.916 1, 836 2,160 648
N 2,720 0 2,720 5 1,944 648
= 5 500 0 500 5 1,728 972
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R RENFEHIS (A15) 2B B #H

(EEISHERESD)
mn &n EEHh EIFEE = (ke) R b tExIER 5|
AH HY5E Axt Hfike) | SEME) FE(E) ZEM) =B FE(E) ZEM)

136200 [E = 3 700

& 600 0 600 10 - - - 3,294 3,240
136210 | A—45 41> 3 1,890

dtiEE 1,890 0 1,890 10 - - - 3,348 1,620
136300 B3 a3 1,590

IR 1,490 250 1,240 10 3. 456 Z 434 3,996 1,944

BE 100 0 100 10 1,620
136600 [f=FHRE g 580

dtiEE 50 0 50 10 1,728

EE 530 530 0 10 Z. 484 1,728
138100 [ LU V=1T “ 3,095

£E 195 30 165 0.1 151 135 97

mE 2,095 90 2,005 0.1 2217 184 216 71
138500 |[LOHLE ¥ 2,687

K% 2,638 473 2,165 0.2 92 86 92 81

E| 15 15 ol o1 86
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8% ENFEHaE 319 kv
(EEISHERESD)
mn mn EEHh EIFEE = (ke) R b tExIER 5|
AH HY5E Axt Hfike) | S1EM) FE(E) ZEM) =1ErFE) FE(E) ZEM)
240700 | Z &R M A DA a3 7,684
] 1,140 1,110 30 10 3,780 1,404 4,104
EFN] 4324 1,884 2,440 10 1,944 1, 404 3,024 1,296
IR 2,190 0 2,190 10 1,944 756
241300 [{FF# 3 10,158
IR 10,158 10,038 120 10 3. 240 1, 404 2,160 1,404
241470 |[ZEA DA a3 520
= U5 520 385 120 3 3. 456 Z.700 3,456 2,592
242320 |ad—ILF 3 2,000
Lt 2,000 1,670 330 10 3. 780 1,728 4,320 2,700
242830 [SLYAC g 4,730
It 4,730 2,280 2,450 10 4,212 1,944 4,104 2,376
242850 | EMVAC a3 100
EES 100 0 100 10 - - - 3,780
246000 [V g 5,439
£E 197 29 168] 0.25 486 292 486 432
Il 303 141 162 03 648 432 594 432
i 788 214 573 027 702 378 756 216
&8 506 228 278 0.24 410 302 410 302
EI& 913 254 659 0.25 389 292 389 270
BE 2,468 860 1,608 0.25 410 281 432 281
= % 264 190 73] 027 400 324 378 346
247100 [7—ILZ2 A0 a3 136
B 136 102 34 8.5 9.504 4, 860 8,640 5,400
257100 |(ZL4H a3 1,125
25 184 37 147  0.23 389 389 335
R 941 824 1171 0.17 454 356 432 410




SF3E01 A 140 OKHER)

F A TR NS T S (AE5) HE H

A FNFERAER 8.8 %
(mAs I X VE B B 5 Te)
4 . E7EH (kg o wY5E RIS
o 4 — — (i 3=X VA - — — y — =

AH H5E FAXIEA | PEHI A AED [ H )| ZemE(™) FEM EAE) | PEE) | 22
101 | RERT=\ 395 106 289 Kg [k 864 IRV 1,080 324
102 |FepHizu 1,112 1,112 Kg g 1,458 324
111 [T ED 399 8 391 Kg [fEkL 162 7 - L 1,080 230
113 [RAROL® 44 24 20 Kg |fE 1,404 324 | f )i 2,160 1,728
114 |F&FE-H 100 100 Kg [ 2,376 540
115 [z 5 1 4] Keg | 1,404 o 1,080 540
117 [i3% 8 2 6 Kg |&=h2 54 3 486 216
121 [bixE 351 272 79 Kg |5 1,512 108|7&E S 1,512 540
134 [7== 365 288 77 Kg [|&3-F 1,300 648[ )ik 1,512 864
137 |5 246 113 133 Kg [REL 2,700 2,214 e E 3,672 2,484
138 |R7Ez 140 100 40 Keg |&fE 756 T JE 1,620 1,080
140 [DIT 14 14 Kg B|&ES 32,400 16,200
147 [HEX O 71 27 44 Kg |iefiE 7,563 3,456 |y - REAS 6,720 3,300
158 [FwHEAED 333 27 306 Kg [R%» 756 702 972 540
201 vl 450 450 Kg R 400 200
203 [/h&HL 24 24 Kg Lo 281 216
206 |0 1,296 20 1,276 Keg |EW 389 T 540 287
207 [SAE 4 4 Kg JbEE 945
208 [0k 53 53 Kg e 2,052 810
209 [T HHLVW 100 100 Kg & I 864 562
210 i A 28 28 Keg |ElR 4,860 2,376
212 |FHE5D 837 837 Kg FEEET 1,512 540
222 |OBT 240 240 Kg =t 252 90
251 |[KAESA 349 349 Kg Flrr 4,320 3,024
252 |[WAEESAH 67 67 Kg | 2,938
254 [EbIEECAH 255 255 Kg T3 1,868 648
303 [FLAZEn 230 52 178 Kg |&=h2 513 El- L0 684 400
305 |Fanok 68 41 27 Kg |fE 2,376 756] A 1,944 1,188
306 [WEXV 15 15 Kg = 972 792
319 [&h6 331 52 279 Kg |fEE 1,080 1,026 & 5 - Fiak L 1,296 482
332 [T HA PR 286 286] Kg AL 1,188 864
351 |A&H 76 26 50 Kg [l 3,996 3,348 Lt 7,020 3,780
354 [ITE<H 70 12 58 Keg [HHE 891 675 T4 1,512 378
355 |HEV 90 5 85 Kg |BE 864 REAS - B 1,188 500
356 |LUA 70 70 Kg BHEL 864
357 |RE 39 39 Kg HEE[E] 1,404 900
362 |7 266 3 263 Kg  [FL 936 =3 2,808 702
402 [H7eX 5 5 Kg A 4,428




SF3E01 A 140 OKHER)

F A TR NS T S (AE5) HE H

R HEIbnA ot = 0.5 %
(mAs I X VE B B 5 Te)

b Tk (k wY5E EpopirG]
:Df_ﬁv oy izl 4;5; (kg _ P \ _ 5 _ ‘ j 5 _

A H H5E FAXIEA | PEHI A AED [ H )| ZemE(™) PEHH EAE) | PEE) | 22
504  |[AHvRH ATV 28 28 Kg Fi 7 764
507 |2—/Lu 10 10 Kg DA 702
512 [@E LD 160 160 Kg B[RES 850 432
523 W 2N 105 105 Kg 3D 2,484 833
560 |HRT-Z 5 5]  Kg 7 1,720
566 [#AERDNT 61 61 Kg v rE 7 5,400 1,350
576 [T 100 100 Kg E[RES 650 635




SF3E01 A 140 OKHER)

F A TR NS T S (AE5) HE H

L eI oe e 2.8 [V
(mAs I X VE B B 5 Te)
4 . E7EH (kg o wY5E RIS
o =8 — — A% BELAT - — — ; — e
A H H5E FAXIEA | PEHI A AED [ H )| ZemE(™) PEHH EAE) | PEE) | 22

701 |[BYOA 1,120 824 296 Keg [#E 1,620 486 | Fo 1,620

710 |50 IF 19 19 Kg Koy 900 702
721 |@FET o8 20 20 Kg Fi 7 8,100

751 | E o 25 25 Kg R 900 453
754 [BHSAE 270 270 Kg deviEiE 267

755  |BHL 100 61 39 Kg |db¥E 432 B|&ES 748 637
756 |BHANET 7 7 Kg KR 1,056

761 |[BYUBDAEE 12 12 Kg |fE 1,543 1,427

763 |z 23 23 Kg 355 4,011 2,160
767 [1E=B0H 21 21 Kg Lo 1,080

768 |[&7=2 10 10 Kg Fi 7 1,800

801 [HEALEIF 370 370]  Kg E[RES 1,809 756
805 | 800 800 Kg JbrE 778 510
807 [tk 1 12 12 Kg EIRES 2,160

810 [HHAXT 18 18 Kg E[RES 1,944 1,782




